Introduction to SciLab
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« MILTUNYNUIADY Matrix

— size(variable)

a:

—>a=[12:34]

-->[nr nc] = size(a)
nc =

2.
nr =

2.
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-->X =[123]; Y=[54 3];

—>X+Y
ans =

6. 6. 6.

n13all

->X=1[123]; Y=[54 3];

—>X-Y
ans =

-4. -2. 0.

-->X =[123]; Y=[5 4 3];

-->X*Y
I--error 10
Inconsistent multiplication.

>SX*Y!
ans =

22.

__>x|*Y
ans =

5. 4.
10. 8.
15. 12

w
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—->X =[12 3], Y=[5 4 3];

->X.*Y
ans =

5. 8. 9.
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-->a=1:3
a —

1. 2. 3.

-->1.0./a
ans =

1. 0.5 0.333333%3
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A = start:step:stop
~ Start do auFudn
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- Stop aa drgaiie
« 1w a=1:3:10, agld a=[14710]
mndesmslainias 1 laidosssye step A&
« 1Wina=1:5, aglda=[12345]
aansamnue step tlnaavlddre wu a=3:-1:1 agld a=[3 2 1]
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A the whole matrix

AC:,:) the whole matrix

A(i:j,k) the elements at rows from i to 7, at column k
A(i,j:k) the elements at row ¢, at columns from j to k
A(4d,:) the row i

AC:,3) the column j
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1.ansanansedreniylitlaviodidedng :

2. myliflaiiu disp()

-->disp(“l like scilab”)
| like scilab

- winiladida disp d1anag ; TUsunsnaguannansola ?
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Greater or

Equal Different Less Greater Less or equal
equal
== <> < > <= >=
True False And Or No
$T %F & | ~
->5<10 ->(10==9)==%T ->%T & %F
ans = ans = ans =
T F F
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Using logical operator

->X=[123]; Y=[54 3];

-->X==
ans =

FFT

Using isequal() function

-->X =[123]; Y=[54 3];

-->isequal(X,Y)
ans =

F

-->~jsequal(X,Y)
ans =

T

13



o liflaritu plot lumswasans

e« uugliidn help 994 plot
« myFonliogluyl
plot(x, y, “appearence’);
WYL
o X Uagy dovlimwiauvingm

» appearance o luyil “sc”
* s @0 style 18930 C hddNIAA
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e Colors

"b" =blue (by default), "k" =black, "r" =red, "g" =green, "c¢" =cyan, "m" = magenta,

"y" =yellow, "w" = white.

*  Point styles

L Ll L Ll L L e L

Joined (by default), or ". ", "+", "0o", "x",

Other options are available with: "s", "d", "v", "<",and ">".
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Plot the point A(1 ; 2) with a red point.

Scilab Editor

Graphics Window

plot(1l,2,".xr")
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T AL 0e
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Plot the segment [AB] in blue (by default) with A(1 ; 2) and B(3 ; 5).

Scilab Editor Graphics Window

Fis Toos Bdt 7
BaGg OB
ovpric v rimgni -]

T e

plot([1,3],[2,5])

|||||||||

Default color=blue, Default style=connected line .



. title(“donau”)

b “s 7 (“s

. xtltle(“?iamm Founu x”, “dounu y’)

N Y

* legend(” faauam‘m 17, faaumiom 27, ...)
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» SciLab for beginner

~— www.scilab.org/content/download/849/7901/file/Scilab_beginners.pdf

* Longer version of the above
- www.scilab.org/content/download/247/1702/file/introscilab.pdf
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Exercise 4.1 (Plus one) Create the vector (xy + 1,22 + 1,25 + 1,24 + 1) with the following .

x = 1:4;

Exercise 4.2 ( Vectorized multiplication) Create the vector (axqyy. raye, Tyys, x4yy) with the
following x and .

x = 1:4:
y = 5:8

¥

Exercise 4.3 ( Vectorized invert) Create the vector (i.. L L l) with the following .
Iy " TFa' g’ T4

x = 1:4:

Exercise 4.4 ( Vectorized division) Create the vector (:—: i “;f) with the following x and
Y.

x = 12*%(6:9);
y = 1:4;
Exercise 4.5 ( Vectorized squaring) Create the vector (I%I% xs, Ii‘} with r =1, 2,3.4.

Exercise 4.6 ( Vectorized sinus) Create the vector (sin(r). sin(xy)... .. sin(xg)) with x is a
vector of 10 values linearly chosen in the interval [0, 7).

Exercise 4.7 ( Vectorized function) Compute the y = f(x) values of the function f defined by
the equation

fla) =logyo (r/107 +107) (1)

with r = 2.220.107 1% and & a vector of 100 values linearly chosen in the interval [—16,0].
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